CHM151 Quiz 3a 25 Pts Spring 2010 Name: Ke‘?’

SHOW ALL WORK TO RECEIVE CREDIT
Atomic masses: H 1.008; C 12.01; N 14.01; O 16.00; K 39.01

1. (6 Pts) According to the following balanced reaction, how many moles of NO are formed from
12.3 moles of NO2 if there is plenty of water present?

3 NO2(g) + H2O(I) — 2 HNO3(aq) + NO(g) |
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2. (8 Pts) According to the following balanced reaction, how many grams of KO are required to
exactly react with 57.7 grams of HpO?

4 KO(s) +2 HpO(I) — 4 KOH(s) + O2(g)
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3. (6 Pts) Determine the empirical formula for a compound that is 36.86% N and 63.14% O by mass.
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4. (5Pts) A compound has an empirical formula of C2HsO2 and a molar mass of 182.3 g/mol.
Determine its molecular formula.
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CHM151 Quiz 3b 25 Pts Spring 2010 Name: )< ey
SHOW ALL WORK TO RECEIVE CREDIT
Atomic masses: H 1.008; C 12.01; N 14.01; O 16.00; K 39.01

1. (8 Pts) According to the following balanced reaction, how many grams of KO are required to
exactly react with 37.7 grams of HyO?

4 KO(s) + 2H20(l) — 4 KOH(s) + O2(g)
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2. (6 Pts) According to the following balanced reaction, how many moles of NO are formed from
28.3 moles of NO3 if there is plenty of water present?

3 NO2(g) + HoO(l) — 2 HNO3(aq) + NO(g)
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3. (5Pts) A compound has an empirical formula of C2HsOz and a molar mass of 243.1 g/mol.

Determine its molecular formula. o
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4. (6 Pts) Determine the empirical formula for a cémpound that is 36.86% N and 63.14% O by mass.
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